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Al 7,677,164 12,048 16,838 0.4
T2y 2,918,000 3,399 5,035 0.3
Al 2 A 4,759,164 8,649 11,803 0.4
Al Al 2,486,200 4,712 6,644 0.5
FEHA 520,742 1,044 1,770 0.5
2UIFA| 520,544 1,120 2,015 0.6
ZEA 476,498 917 1,764 0.6
Z50 A 244 134 415 273 0.3
EHEH A 197,636 375 202 0.3
LA 184,925 375 265 0.3
ISESIN| 341,721 466 355 0.2
= A 2,272,964 3,937 5,159 0.4
=ML 255,271 398 1,085 0.6
2AMT 209,495 336 655 0.5
Aeld 216,850 373 286 0.3
HEs 198,723 368 278 0.3
MM 245,527 376 189 0.2
Held 219,139 344 204 0.3
st 2 170,748 327 886 0.7
o 172,690 333 190 0.3
ol A| 208,668 340 323 0.3
oM 201,188 366 807 0.6
kTt 174,665 376 256 0.4
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T o|3[H| HIE 2|3H| v|E 2|3|H| HIE o3| v|E | 2o|3[H| v|EF 2|3[H| HIE 2|3[H| HIE
A 22,059 0.4 23,381 0.4 25,132 0.4 31,714 0.5 32,044 0.4 27,765 0.4 28,886 0.4

T&2% 6,148 0.3 6,432 0.3 8,417 0.4 10,889 0.4 7,972 0.3 8,326 0.3 8,434 0.3
ZMAl | 2,115 0.6 2,281 0.6 2,429 0.6 2,809 0.6 2,934 0.6 2,879 0.6 2,814 0.6
1Al 1,808 0.6 1,905 0.6 2,394 0.6 2,874 0.7 3,004 0.6 3,057 0.7 3,135 0.7
ZEAl 2150 0.7 2,138 0.6 2,252 0.6 2,560 0.6 2,853 0.6 2,653 0.6 2,681 0.6
S Al 421 0.2 691 0.4 529 0.3 719 0.3 720 0.3 642 0.3 688 0.3
E{ BH A 733 0.3 666 0.4 559 0.4 1,137 0.6 767 0.4 665 0.3 577 0.3
=N 741 0.6 703 0.5 549 0.3 654 0.3 823 0.4 709 0.4 640 0.4
HEA| 588 0.3 598 0.3 524 0.2 662 0.2 754 0.2 791 0.2 821 0.2
ML 450 0.3 529 0.3 503 0.3 577 0.3 620 0.3 620 0.2 1,483 0.2
2dT 996 0.8 888 0.6 912 0.6 973 0.6 1,046 0.5 1,022 0.6 991 0.6
g 941 0.7 968 0.7 906 0.6 1,221 0.7 1,150 0.6 1,211 0.6 659 0.6
gy 575 0.4 601 0.4 655 0.4 615 0.3 834 0.4 790 0.4 646 0.4
gu 500 0.3 841 0.4 474 0.3 626 0.3 769 0.3 590 0.2 565 0.2
Had 358 0.2 709 0.4 473 0.3 540 0.3 754 0.3 483 0.2 548 0.2
3tM+# 1,036 0.8 1,071 0.8 1,124 0.8 1,312 0.8 1,314 0.7 1,237 0.8 1,213 0.8
1A v 325 0.3 346 0.3 404 0.3 584 0.3 592 0.3 454 0.3 523 0.3
QA = 787 0.6 513/ 0.3 507 0.3 700 0.4 667 0.3 559 0.3 663 0.3
nyT 856 0.6 928 0.6 964 0.6 1,156 0.7 1,111 0.6 474 02 1,173 0.2
Ut 531 0.4 573 0.4 557 0.4 1,106 0.7 667 0.4 603 0.4 632 0.4






